Quiz II; F5360; Summer, 1997



Name ______________________________

Note:  question 1 is worth 40 points, questions 2 and 3 are worth 80 points each.

1.  Provide a short answer (sometimes even one word) to each of the following:

a.   What is the difference between the 1-year forward rate beginning 2 years from today and the 1-year short rate beginning 2 years from today?

b.  What type of securities should be used in estimating the term structure of interest rates?

c.  Suppose you combine the following 3 assets into portfolios:

Asset
Expected return
Std. deviation
1
15
37

2
9
22

3
21
45

Sketch a reasonable efficient set with these three assets.

d.  Why is there no exact relationship between a stock’s standard deviation and its required return?  (Short answer)

2.  Assume that the one-year interest rate is 5.73%, that the two-year interest rate is 6.07%, and that the three-year interest rate is 6.21%.  

a.  Assuming that the Inflation Risk Hypothesis is correct, what can we conclude about the market’s expectations about the one-year interest rate next year and the year after that?

b.  Explain why your answer in part  “a” is correct.  Be sure to include a discussion of the Inflation Risk Hypothesis and how it affected your answer.

3.  Assume that you have estimated that the return on Tiger Over Par (?) Inc. stock, the S&P500, and     T-bills will depend on the economy as follows:



Return on:

Economy
Prob.
Tiger
S&P500
T-bills
Boom
.25
22
35
5.6

Average
.40
19
12
5.6

Bust
.35
-3
-4
5.6

a.  What is the beta of Tiger’s stock?

b.  What is the required return on Tiger’s stock?

c.  Assuming fixed future cash flows, what must happen to the price of Tiger’s stock in order for Tiger to be in equilibrium?  Explain.

